CSE431
SpringQuarter2001
Assignmenb
DueFriday, May 4

All solutionsshouldbe neatly written or type set. All major stepsin proofs and algorithmsmust be
justified.

1. (10 points)Recallthefollowing definition:
Ary = {{M,w) : M acceptav}.
Shaw thatif L is TuringrecognizablehenL <,, Arys.

2. (10 points) We know (from Theorem5.23) thatif A <,, B and A is not Turing recognizablehen
neitheris B. Usethis andthefactthatthecomplemenbdf Az, is not Turing recognizabléo shav that

Dry = {{M) : L(M) is decidablé

is not Turing recognizable.



